

4800 Ashford Dunwoody Road Dunwoody, Georgia 30338 dunwoodyga.gov | 678.382.6700

MEMORANDUM

To: Mayor and City Council

From: Todd Meadows, Construction Manager

Date: March 14, 2022

Subject: Approval of a Construction Contract for Intersection Improvements at

Chamblee Dunwoody Road and Womack Road

ACTION

Authorize the Mayor, City Manager, or designee to execute all documents necessary and proper for a contract with Wilson Construction Management, LLC, in the amount of \$1,971,078.00 plus a 10% contingency for construction of intersection improvements at Chamblee Dunwoody Road and Womack Road.

SUMMARY

The city issued an invitation to bid (<u>ITB 22-01</u>) for intersection improvements at Chamblee Dunwoody Road and Womack Road to include:

- Adding a left turn lane on Womack Road at the intersection and provisions for potential future right turn lane (from Womack Road to northbound CDR)
- Raising the end of Womack Road to improve visibility and remove the right turn on red restriction.
- Drainage improvements on Chamblee Dunwoody Road and widening of the west side sidewalk to 5 feet from Manget Way south to the intersection of Nerine Circle
- Maintaining bike lanes on both sides of the road within the limits of the project
- Installing a new decorative mast arm signal

The city received bids from 5 contractors with Wilson Construction Management, LLC submitting the lowest bid at \$1,971,078.00. Wilson is currently under contract with the city for the Winters Chapel Trail, Phase I project.

DETAILS

The funding sources for this project are as follows:

Funding Source	Accounting Project No.	<u>Amount</u>
HOST Capital	181	\$2,841
SPLOST	SP1-1828	\$1,881,129
HOST Capital Surplus- Tilly Mill Sidewalk Project	16H	\$221.424
HOST Capital Surplus- Peeler Sidewalk Project	202-Peeler	\$18,391
SPLOST- Peeler Sidewalk Project Surplus	SP1-1810	\$31,922
SPLOST- Mt. Vernon Pl. Sidewalk Project Surplus	SP1-1815	\$58,922
•	Total Funding	\$2,214,629

The total estimated cost of construction is:



4800 Ashford Dunwoody Road Dunwoody, Georgia 30338 dunwoodyga.gov | 678.382.6700

Wilson CM Bid Materials Testing and Inspection Site Restoration Allowance Construction Management Fee \$1,971,078 \$40,000 \$20,000 \$102,000

\$2,133,078

Total Base Cost

The city has adequate funding for the base construction cost and a construction contingency of just over 4%. Additional funding may need to be allocated in the 2023 capital budget to provide the full 10% contingency that is customarily authorized for construction projects. If needed, these additional contingency funds would not be expended until 2023 based on the anticipated construction schedule.

The first construction task will be to build a retaining wall on the north side of Womack Road followed by relocation of the overhead utilities on Womack and the gas main on Chamblee Dunwoody Road. After the utility companies relocate all of their facilities, the city's contractor can complete the road widening and sidewalks. The project is expected to be completed in 2023.

RECOMMENDED ACTION

Staff requests authorization for the Mayor, City Manager, or designee to execute all documents necessary and proper for a contract with Wilson Construction Management, LLC in the amount of \$1,971,078.00 plus a 10% contingency for construction of intersection improvements at Chamblee Dunwoody Road and Womack Road.

	ROADWAY ITEMS			Wilso	on Const	IP Co	onstruction	Summit (Construction	Excellere	Construction	Ol	hmshiv
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Item	ROADWAY ITEMS												
150-1000	TRAFFIC CONTROL - CHAMBLEE DUNWOODY ROAD AT WOMACK RD	LS	1	\$97,500.00	\$97,500.00	\$64,438.16	\$64,438.16	\$120,275.00	\$120,275.00	\$31,623.02	\$31,623.02	\$225,000.00	\$225,000.00
205-0210	EXCAVATION ROCK - SPECIAL PROVISION	CY	25	\$250.00	\$6,250.00	\$105.00	\$2,625.00	\$150.00	\$3,750.00	\$110.27	\$2,756.75	\$300.00	\$7,500.00
206-0002	BORROW EXCAV, INCL MATL- SPECIAL PROV (AS DIRECTED BY CITY ENGINEER)	CY	250	\$19.00	\$4,750.00	\$36.75	\$9,187.50	\$10.00	\$2,500.00	\$64.99	\$16,247.50	\$50.00	\$12,500.00
207-0203	FOUND BKFL MATL, TP 2 (AS DIRECTED BY CITY ENGINEER)	CY	100	\$40.00	\$4,000.00	\$36.75	\$3,675.00	\$50.00	\$5,000.00	\$54.82	\$5,482.00	\$70.00	\$7,000.00
210-0100	GRADING COMPLECHAMBLEE DUNWOODY RD AT WOMACK RD	LS	1	\$585,288.00	\$585,288.00	\$586,244.67	\$586,244.67	\$594,226.83	\$594,226.83	\$1,059,395.18	\$1,059,395.18	\$824,070.00	\$824,070.00
310-1101	GR ADDR BASE CRS, INCL MATL	TN	25	\$50.00	\$1,250.00	\$37.80	\$945.00	\$38.00	\$950.00	\$31.99	\$799.75	\$32.00	\$800.00
310-5060	GR ADDR BASE CRS, 6 IN INCL MATL	SY	99	\$26.00	\$2,574.00	\$21.00	\$2,079.00	\$13.50	\$1,336.50	\$10.41	\$1,030.59	\$12.00	\$1,188.00
310-5080	GR ADDR BASE CRS, 8 IN INCL MATL	SY	1,170	\$26.00	\$30,420.00	\$26.25	\$30,712.50		\$21,060.00	\$11.86	\$13,876.20		\$18,720.00
318-3000	AGGR SURF CRS	TN	50	\$50.00	\$2,500.00	\$32.55	\$1,627.50	\$54.00	\$2,700.00	\$31.99	\$1,599.50	\$32.00	\$1,600.00
402-1802	RECYCLED ASPH CONC PATCHING, INCL BITUM MATL & H LIME	TN	100	\$250.00	\$25,000.00	\$239.66	\$23,966.00	\$180.00	\$18,000.00	\$198.48	\$19,848.00	\$236.00	\$23,600.00
402-1812	RECYCLED ASPH CONC LEVELING, INCL BITUM MATL & H LIME	TN	971	\$130.00	\$126,230.00	\$126.43	\$122,763.53	\$155.00	\$150,505.00	\$181.94	\$176,663.74	\$153.55	\$149,097.05
402-3103	RECYCLED ASPH CONC 9.5 MM SUPERPAVE, TYPE II, GP 2 ONLY, INCL BITUM MATL & H LIME	TN	7	\$440.00	\$3,080.00	\$453.75	\$3,176.25	\$300.00	\$2,100.00	\$35.22	\$246.54	\$319.00	\$2,233.00
402-3130	RECYCLED ASPH CONC 12.5 MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME	TN	429	\$132.00	\$56,628.00	\$138.37	\$59,360.73	\$145.00	\$62,205.00	\$155.62	\$66,760.98	\$184.00	\$78,936.00
402-3190	RECYCLED ASPH CONC 19 MM SUPERPAVE, GP 1 OR 2,INCL BITUM MATL & H LIME	TN	60	\$140.00	\$8,400.00	\$145.11	\$8,706.60	\$220.00	\$13,200.00	\$181.21	\$10,872.60	\$200.50	\$12,030.00
402-3121	RECYCLED ASPH CONC 25 MM SUPERPAVE, GP 1 OR 2,INCL BITUM MATL & H LIME	TN	179	\$128.00	\$22,912.00	\$132.56	\$23,728.24	\$160.00	\$28,640.00	\$182.18	\$32,610.22	\$185.00	\$33,115.00
413-0750	BITUM TACK COAT	GL	834	\$8.00	\$6,672.00	\$7.61	\$6,346.74	\$9.50	\$7,923.00	\$3.97	\$3,310.98	\$4.25	\$3,544.50
432-0206	MILL ASPH CONC PVMT, 1-1/2 IN DEPTH	SY	4,564	\$4.00	\$18,256.00	\$4.39	\$20,035.96	\$6.50	\$29,666.00	\$5.85	\$26,699.40	\$5.50	\$25,102.00
441-4020	CONC VALLEY GUTTER, 6 IN	SY	123	\$65.00	\$7,995.00	\$43.05	\$5,295.15	\$62.00	\$7,626.00	\$59.39	\$7,304.97	\$50.00	\$6,150.00
441-0204	PLAIN CONC DITCH PAVING, 4 IN	SY	37	\$75.00	\$2,775.00	\$40.95	\$1,515.15	\$44.00	\$1,628.00	\$87.28	\$3,229.36	\$50.00	\$1,850.00
446-1100	PVMT REINF FABRIC STRIPS, TP 2, 18 INCH WIDTH	LF	860	\$5.00	\$4,300.00	\$6.05	\$5,203.00	\$5.00	\$4,300.00	\$6.62	\$5,693.20	\$10.00	\$8,600.00
634-1200	RIGHT OF WAY MARKERS	EA	7	\$100.00	\$700.00	\$262.50	\$1,837.50	\$150.00	\$1,050.00	\$415.23	\$2,906.61	\$150.00	\$1,050.00
500-9999	CLASS B CONC, BASE OR PVMT WIDENING-6 IN	CY	34	\$260.00	\$8,840.00	\$262.50	\$8,925.00	\$320.00	\$10,880.00	\$307.36	\$10,450.24	\$225.00	\$7,650.00
441-0104	CONC SIDEWALK, 4 IN	SY	1,022	\$35.00	\$35,770.00	\$34.65	\$35,412.30	\$46.00	\$47,012.00	\$41.38	\$42,290.36	\$40.00	\$40,880.00
441-0108	CONC SIDEWALK, 8 IN	SY	130	\$65.00	\$8,450.00	\$53.55	\$6,961.50	\$95.00	\$12,350.00	\$87.33	\$11,352.90	\$58.00	\$7,540.00
441-6216	CONC CURB & GUTTER, 8 IN X 24 IN, TP 2	LF	2,260	\$19.00	\$42,940.00	\$25.20	\$56,952.00	\$21.00	\$47,460.00	\$20.07	\$45,358.20	\$20.00	\$45,200.00
500-3107	CLASS A CONCRETE, RETAINING WALL	CY	33	\$940.00	\$31,020.00	\$682.50	\$22,522.50	\$750.00	\$24,750.00	\$466.61	\$15,398.13	\$925.00	\$30,525.00
500-3201	CLASS B CONCRETE, RETAINING WALL	CY	65	\$820.00	\$53,300.00	\$682.50	\$44,362.50	\$750.00	\$48,750.00	\$466.61	\$30,329.65	\$815.00	\$52,975.00
607-3000	STONE FACING (GRANITE)	SF	2,531	\$28.00	\$70,868.00	\$19.95	\$50,493.45		\$63,275.00	\$20.29	\$51,353.99		\$63,275.00
621-6210	, -	LF	63	\$475.00	\$29,925.00	\$603.75	\$38,036.25	\$750.00	\$47,250.00	\$491.77	\$30,981.51	\$475.00	\$29,925.0
621-6211	CONCRETE SIDE BARRIER, TP 6- SA	LF	78	\$600.00	\$46,800.00	\$640.50	\$49,959.00	\$900.00	\$70,200.00	\$642.83	\$50,140.74	\$595.00	\$46,410.0
621-6212	CONCRETE SIDE BARRIER, TP 6-SB	LF	86	\$750.00	\$64,500.00	\$761.25	\$65,467.50	\$1,200.00	\$103,200.00	\$793.89	\$68,274.54	\$735.00	\$63,210.00
621-6213	CONCRETE SIDE BARRIER, TP 6-SC	LF	7	\$800.00	\$5,600.00	\$950.25	\$6,651.75	\$1,700.00	\$11,900.00	\$868.86	\$6,082.02	\$800.00	\$5,600.00

	ROADWAY ITEMS			Wilson Const IP Constructi			onstruction	Summit C	Construction	Excellere	Construction	Ohmshiv	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
643-8405	FENCE, SPECIAL DESIGN - RAILING (AS DIRECTED BY CITY ENGINEER)	LF	286	\$70.00	\$20,020.00	\$72.45	\$20,720.70	\$100.00	\$28,600.00	\$93.73	\$26,806.78	\$110.00	\$31,460.00
550-1180	STORM DRAIN PIPE, 18 IN, H 1-10	LF	879	\$65.00	\$57,135.00	\$53.55	\$47,070.45	\$65.00	\$57,135.00	\$80.89	\$71,102.31	\$60.00	\$52,740.00
550-1420	STORM DRAIN PIPE, 42 IN, H 1-10	LF	538	\$180.00	\$96,840.00	\$157.50	\$84,735.00	\$240.00	\$129,120.00	\$217.05	\$116,772.90	\$180.00	\$96,840.00
668-1100	CATCH BASIN, GP 1	EA	5	\$3,800.00	\$19,000.00	\$5,827.50	\$29,137.50	\$6,500.00	\$32,500.00	\$3,338.90	\$16,694.50	\$3,950.00	\$19,750.00
668-1110	CATCH BASIN, GP 1, ADDL DEPTH	LF	5	\$350.00	\$1,750.00	\$525.00	\$2,625.00	\$450.00	\$2,250.00	\$262.74	\$1,313.70	\$900.00	\$4,500.00
668-1200	CATCH BASIN, GP 2	EA	2	\$5,100.00	\$10,200.00	\$5,827.50	\$11,655.00	\$6,500.00	\$13,000.00	\$4,216.20	\$8,432.40	\$5,500.00	\$11,000.00
668-1210	CATCH BASIN, GP 2, ADDL DEPTH	LF	4	\$375.00	\$1,500.00	\$525.00	\$2,100.00	\$450.00	\$1,800.00	\$289.19	\$1,156.76	\$1,250.00	\$5,000.00
668-4300	STORM SEWER MANHOLE, TP 1	EA	5	\$2,850.00	\$14,250.00	\$6,667.50	\$33,337.50	\$8,500.00	\$42,500.00	\$4,825.15	\$24,125.75	\$3,500.00	\$17,500.00
668-4311	STORM SEWER MANHOLE, TP 1, ADDL DEPTH, CL 1	LF	17	\$350.00	\$5,950.00	\$525.00	\$8,925.00	\$450.00	\$7,650.00	\$459.48	\$7,811.16	\$900.00	\$15,300.00
668-4312	STORM SEWER MANHOLE, TP 1, ADDL DEPTH, CL 2	LF	1	\$375.00	\$375.00	\$525.00	\$525.00	\$450.00	\$450.00	\$636.36	\$636.36	\$1,250.00	\$1,250.00
668-2100	DROP INLET GP 1	EA	1	\$2,850.00	\$2,850.00	\$4,042.50	\$4,042.50	\$7,200.00	\$7,200.00	\$3,128.49	\$3,128.49	\$3,500.00	\$3,500.00
668-2100	DROP INLET, GP 1 ADDL DEPTH	EA	2	\$350.00	\$700.00	\$4,042.50	\$8,085.00	\$450.00	\$900.00	\$350.83	\$701.66	\$900.00	\$1,800.00
611-8050	ADJUST MANHOLE TO GRADE	EA	1	\$1,450.00	\$1,450.00	\$525.00	\$525.00	\$1,200.00	\$1,200.00	\$469.86	\$469.86	\$2,250.00	\$2,250.00
611-8120	ADJUST WATER METER BOX TO GRADE	EA	2	\$800.00	\$1,600.00	\$262.50	\$525.00	\$750.00	\$1,500.00	\$59.79	\$119.58	\$550.00	\$1,100.00
611-8010	ADJUST HYDRANT TO GRADE	EA	3	\$3,000.00	\$9,000.00	\$1,575.00	\$4,725.00	\$2,000.00	\$6,000.00	\$661.57	\$1,984.71	\$3,250.00	\$9,750.00
636-1045	HIGHWAY SIGNS, TP 2 MATL, REFL SHEETING, TP 11	SF	90	\$42.00	\$3,780.00	\$44.10	\$3,969.00	\$82.04	\$7,383.60	\$46.31	\$4,167.90	\$42.00	\$3,780.00
639-3004	STEEL STRAIN POLE, TP IV, WITH 40' MAST ARM-FLUTED BLACK	EA	1	\$19,800.00	\$19,800.00	\$20,790.00	\$20,790.00	\$22,646.66	\$22,646.66	\$21,831.76	\$21,831.76	\$25,000.00	\$25,000.00
639-3004	STEEL STRAIN POLE, TP IV, WITH 45' MAST ARM-FLUTED BLACK	EA	1	\$21,250.00	\$21,250.00	\$22,312.50	\$22,312.50	\$23,595.13	\$23,595.13	\$23,430.55	\$23,430.55	\$25,000.00	\$25,000.00
639-3004	STEEL STRAIN POLE, TP IV, WITH 50' MAST ARM-FLUTED BLACK	EA	2	\$23,720.00	\$47,440.00	\$24,906.00	\$49,812.00	\$28,309.83	\$56,619.66	\$26,154.01	\$52,308.02	\$25,000.00	\$50,000.00
647-1000	TRAFFIC SIGNAL INSTALLATION NO-1	LS	1	\$105,000.00	\$105,000.00	\$110,250.00	\$110,250.00	\$127,503.12	\$127,503.12	\$115,774.47	\$115,774.47	\$105,000.00	\$105,000.00
682-6233	CONDUIT, NONMETAL TP 3, 2 IN	LF	1,565	\$6.00	\$9,390.00	\$12.90	\$20,188.50	\$12.90	\$20,188.50	\$6.62	\$10,360.30	\$6.05	\$9,468.25
682-8500	ELECTRICAL POWER SERVICE ASSEMBLY (AERIAL SERVICE POINT)	EA	1	\$1,895.00	\$1,895.00	\$1,995.00	\$1,995.00	\$4,723.05	\$4,723.05	\$2,089.46	\$2,089.46	\$1,895.00	\$1,895.00
682-9950	DIRECTIONAL BORE-3 IN	LF	87	\$13.00	\$1,131.00	\$13.65	\$1,187.55	\$11.96	\$1,040.52	\$14.34	\$1,247.58	\$13.00	\$1,131.00
682-9950	DIRECTIONAL BORE-5 IN	LF	100	\$16.00	\$1,600.00	\$16.80	\$1,680.00	\$12.56	\$1,256.00	\$17.65	\$1,765.00	\$16.00	\$1,600.00
682-9950	DIRECTIONAL BORE-7 IN	LF	170	\$18.00	\$3,060.00	\$18.90	\$3,213.00	\$12.82	\$2,179.40	\$19.85	\$3,374.50	\$18.00	\$3,060.00
936-1010	CCTV SYSTEM, TYPE H	EA	1	\$4,000.00	\$4,000.00	\$5,250.00	\$5,250.00	\$5,494.78	\$5,494.78	\$4,410.46	\$4,410.46	\$4,000.00	\$4,000.00
936-8000		LS	1	\$100.00	\$100.00	\$1,050.00	\$1,050.00	\$82.25	\$82.25	\$110.27	\$110.27	\$100.00	\$100.00
653-1501	THERMOPLASTIC SOILD TRAF STRIPE, 5 IN, WHITE	LF	2,476	\$1.00	\$2,476.00	\$0.84	\$2,079.84	\$0.77	\$1,906.52	\$0.67	\$1,658.92	\$0.70	\$1,733.20

	ROADWAY ITEMS			Wilso	on Const	IP Co	onstruction	Summit C	Construction	Excellere (Construction	Oh	mshiv
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
553-3501	THERMOPLASTIC SKIP TRAF STRIPE, 5 IN, WHITE	GLF	107	\$1.00	\$107.00	\$0.84	\$89.88	\$0.39	\$41.73	\$0.61	\$65.27	\$0.35	\$37.45
553-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8 IN, WHITE	LF	1,034	\$3.00	\$3,102.00	\$2.75	\$2,843.50	\$2.75	\$2,843.50	\$2.71	\$2,802.14	\$2.50	\$2,585.00
553-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	LF	100	\$6.00	\$600.00	\$5.67	\$567.00	\$5.50	\$550.00	\$6.62	\$662.00	\$5.00	\$500.00
553-1502	THERMOPLASTIC SOLID TRAF STRIPE, 5 IN, YELLOW	LF	1,063	\$1.00	\$1,063.00	\$0.84	\$892.92	\$0.83	\$882.29	\$0.67	\$712.21	\$0.75	\$797.25
653-6004	THERMOPLASTIC TRAF STRIPING, WHITE	SY	438	\$6.00	\$2,628.00	\$5.67	\$2,483.46	\$4.00	\$1,752.00	\$6.62	\$2,899.56	\$5.00	\$2,190.00
653-6006	THERMOPLASTIC TRAF STRIPING, YELLOW	SY	2,573	\$6.00	\$15,438.00	\$5.88	\$15,129.24	\$1.00	\$2,573.00	\$5.90	\$15,180.70	\$4.50	\$11,578.50
553-0110	THERMOPLASTIC PVMT MARKING, ARROW TP 1	EA	4	\$105.00	\$420.00	\$109.46	\$437.84	\$93.50	\$374.00	\$115.78	\$463.12	\$85.00	\$340.00
653-0120	THERMOPLASTIC PVMT MARKING, ARROW TP 1	EA	5	\$130.00	\$650.00	\$133.46	\$667.30	\$104.50	\$522.50	\$115.78	\$578.90	\$95.00	\$475.00
659-7015	HOT APPLIED PREFORMED PLASTIC PVMT MARKING, BIKE LANE MARKING, TP P	EA	4	\$245.00	\$980.00	\$256.45	\$1,025.80	\$275.00	\$1,100.00	\$551.31	\$2,205.24	\$250.00	\$1,000.00
654-1001	RAISED PVMT MARKERS TP 1	EA	125	\$6.00	\$750.00	\$5.72	\$715.00	\$5.50	\$687.50	\$6.01	\$751.25	\$5.00	\$625.00
654-1003	RAISED PVMT MARKERS TP 3	EA	60	\$6.00	\$360.00	\$5.72	\$343.20	\$5.50	\$330.00	\$6.01	\$360.60	\$5.00	\$300.00
636-1033	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 9	SF	5	\$36.00	\$180.00	\$37.80	\$189.00	\$22.00	\$110.00	\$39.70	\$198.50	\$20.00	\$100.00
636-2070	GALV STEEL POSTS, TP 7	LF	13	\$44.00	\$572.00	\$46.20	\$600.60	\$8.53	\$110.89	\$48.52	\$630.76	\$7.75	\$100.75
171-0030	TEMPORARY SILT FENCE, TYPE C	LF	4,000	\$4.00	\$16,000.00	\$2.42	\$9,680.00	\$3.95	\$15,800.00	\$2.45	\$9,800.00	\$3.50	\$14,000.00
163-0550	CONSTRUCT AND REMPOVE INLET SEDIMENT TRAP	EA	14	\$255.00	\$3,570.00	\$315.00	\$4,410.00	\$250.00	\$3,500.00	\$114.45	\$1,602.30	\$300.00	\$4,200.00
163-0301	CONSTRUCT AND REMOVE CONSTRUCTION EXITS	EA	4	\$2,000.00	\$8,000.00	\$945.00	\$3,780.00	\$1,500.00	\$6,000.00	\$991.54	\$3,966.16	\$1,250.00	\$5,000.00
163-0240	MULCH	TN	22	\$200.00	\$4,400.00	\$630.00	\$13,860.00	\$150.00	\$3,300.00	\$0.01	\$0.22	\$350.00	\$7,700.00
163-0232	TEMPORARY GRASSING	AC	1	\$650.00	\$650.00	\$945.00	\$945.00	\$1,500.00	\$1,500.00	\$0.01	\$0.01	\$1,500.00	\$1,500.00
165-0030	MAINTENANCE OF TEMPORARY SILT FENCE, TP C	LF	2,000	\$1.00	\$2,000.00	\$2.42	\$4,840.00	\$0.50	\$1,000.00	\$0.01	\$20.00	\$2.00	\$4,000.00
165-0101	MAINTENANCE OF CONSTRUCTION EXIT	EA	4	\$450.00	\$1,800.00	\$945.00	\$3,780.00	\$250.00	\$1,000.00	\$0.01	\$0.04	\$650.00	\$2,600.00
165-0105	MAINTENANCE OF INLET SEDIMENT TRAP	EA	14	\$50.00	\$700.00	\$52.50	\$735.00	\$75.00	\$1,050.00	\$0.01	\$0.14	\$115.00	\$1,610.00
700-6910	PERMANENT GRASSING	AC	2	\$1,100.00	\$2,200.00	\$945.00	\$1,890.00	\$100.00	\$200.00	\$0.01	\$0.02	\$2,250.00	\$4,500.00
716-2000	EROSION CONTROL MATS, SLOPES	SY	330	\$1.10	\$363.00	\$2.10	\$693.00	\$1.80	\$594.00	\$1.30	\$429.00	\$2.00	\$660.00
167-1000	WATER QUALITY MONITORING AND SAMPLING	EA	3	\$200.00	\$600.00	\$525.00	\$1,575.00	\$450.00	\$1,350.00	\$0.01	\$0.03	\$400.00	\$1,200.00
167-1500	WATER QUALITY INSPECTIONS	MO	18	\$150.00	\$2,700.00	\$525.00	\$9,450.00	\$350.00	\$6,300.00	\$0.01	\$0.18	\$500.00	\$9,000.00
700-7000	AGRICULTURAL LIME	TN	4	\$400.00	\$1,600.00	\$210.00	\$840.00	\$100.00	\$400.00	\$0.01	\$0.04	\$500.00	\$2,000.00
700-8000	FERTILIZER MIXED GRADE	TN	3	\$600.00	\$1,800.00	\$367.50	\$1,102.50	\$150.00	\$450.00	\$0.01	\$0.03	\$650.00	\$1,950.00
700-8100	FERTILIZER, NITROGEN CONTENT	LB	60	\$1.00	\$60.00	\$31.50	\$1,890.00	\$2.50	\$150.00	\$0.01	\$0.60	\$5.00	\$300.00
700-9300	SOD	SY	1500	\$7.50	\$11,250.00	\$7.35	\$11,025.00	\$10.50	\$15,750.00	\$8.87	\$13,305.00	\$8.00	\$12,000.00
999-0002	TENSAR TX160 TRIAXIAL GEOGRID (AS DIRECTED BY CITY ENGINEER)	SY	350	\$10.00	\$3,500.00	\$15.75	\$5,512.50	\$8.00	\$2,800.00	\$5.57	\$1,949.50	\$55.00	\$19,250.00
999-0003	STABILIZER AGGREGATE-4" SURGE STONE (AS DIRECTED BY CITY ENGINEER)	TN	100	\$40.00	\$4,000.00	\$36.75	\$3,675.00	\$35.00	\$3,500.00	\$36.61	\$3,661.00	\$45.00	\$4,500.00

Items in red differ from the extended amount on the Bid Form amount provided by the contractor

The totals listed are the result of the actual sumarized extended bid amount for each item.

The extended line item total in red indicates an error on the Bidders extrended amount, based on the written unit amount.